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2019(Odd) 0Old Syllabus
Job | 12| 16| 23| 24| 35| 45| 67|58 |78
Odays)] 1| 2] 2] 2] 75| 5]3]S8 Time : 3Hrs. Sem. 111
m(days) 7 14 5 10 5 8 3 17 PM
d 1426 8 | 1917299 |32
Pl 13 Full Marks : 80
i . Pass Marks : 26
fr=ifea arfasr 9 dcas dIR &) wd
fpfedd urer U9 Uieiae &1 99d S1d Answer all 20 questions from Group A, each question
Y| carries 1 marks.
Ju—A ¥ 20 73 & SR T, UAD U BT 94 13D 2 |
Tob T 12 16 23] 2435 | 45 67 [ 58 | 75 Answer allFive questions from Group B, each question
Oays)| 1 | 2| 2] 2] 7] S5 513 8 carries 4 marks.
mdays) 7 | S M4 S0 5 813 117 7u-B & wl ufg g @ SR S, 9D 9 &1 A 43D R |
p(days)| 13| 14| 26| 8 | 19|17 29| 9 | 32
Answer all Five questions from Group C, each question

carries 8 marks.

ke
7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BIFT AT, =T 4 Sifd T8l off ¥ad ¢ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (3127@) (i)  HEAT 0.0023475 BT IR 3dyvl 3iHl

Find the initial feasible solution of the following a® &1 Round -off AT &

T . blem by Vogel's A . (31) 0.0023
ransportation problem by Vogel's Approximation (d) 0.002347
method and show whether solution is optimal or () 0.002348
not. (]) 379 | HIs T8
To (iii)  The difference between two consecutive
From Dy | D2 | B3 | Dy | Supply arguments are called:
F, 23127 |16 |18 | 30 (a) Finite difference
F, 12 [17 [20 |51 ] 4 Eb; %nfinitel diﬁfg‘rénce .
c) Interval of differencing
3 22128 |12 |32 53 (d) None of these
Demand| 22 | 35 | 25 | 41

(i) T TR JIRAHA<TH S 419 BT IR

fraifed NI U &1 YRPYS awnfad FEA 8-
_ (31) ifra srax
g 9™ (VAM) fafer € fara ik fRand fe (@) srfifa arx
FAT B ATUFSHS 2 3rerar a17? (|) 3I=IROT B I=<RTA
() 39 & dIs T8l
FromTO Dy | Dy | D3| Dy | Supply (iv)  The order of difference equation
F, |23]27 |16 18] 30 Ay, T4 Ay, =0is
F, [12[17 [20]51] 40 % ;
F, 22128 [12 32 33 e
Demand| 22 | 35 | 25 | 41 (d) None of these

P.T.O



O'Ld

02 X “Ix

IS+ 'Xp9s g+ 'x 2 Dblsh
X+ 'xL =7 Xe\

3¢ B RlR] RpRMRY

B2 1 baK Leh]Iflh M| Dbl

0< x X

715 X¢ + Xy ‘95 &g + 'x 1 01103[gng
X6+ X/ =7 "XeN

‘poyjow xapduis Aq

worqoid Surwwer3ord reaur] UIMO[[0F Y} A[OS

g |01 0¢ ¢¢ Sl S |1Palbidb
09-0¢ |0S-0% |0-0€ |0€-0C | 0C-0T | OI-0 Jrb

| 3 DL
lodRK Pd 10R3llk ‘Ralk B 1PRID Pelbtl]

100€LO | 14 10€00

01

9say} Jo duoN (p)
[+d=A()
1+d=V(a)

1-d=v(®)
13031109 ST UONB[AI YIIYA\

1Bk Sl B kb3 (2)

(€D ()

(D (B)

(1°0) ()

gLkl o Bl Gkl

hish 19 0 =9 - XL +¢X6 +¢XE 4+ ¢X lnddb b

asay} Jo duoN (p)

(€0 ()

@1

(1°0) (2)

U39MISQ SII[ ) = 9 = XL + ¢XG +¢XE + X
uonenba oy Jo 1001 aAnIsod 3811

1§k Blo B k3 (2)

v (R)

¢ (B)

€ (i)

—3 Rl

1L 0= "4Vt + AV Indblh Abale

100€LO 14

(18)

(»)

(»)

(A7)

10€00



00301

20

0T3001

(a) Fr=ifea wevor &1 Tra— fem=e= fafer
q B BN

x+ty+z=9,2x-3y+4z =13,3x+4y+5z=4

(b) Fr=ifrd IFaR FHidRYT B 8T BN |

(E>- 4E +3) y, = 3"

9. Find mean and standard deviation of Poisson

distribution.

8

Poisson fadavor &1 A1e9 U9 UF® faaea =1d

B |

OR (312141)

Find mean, medium, variance for the following

table:
Class | 0-10 [10-20 | 20-30| 30-40| 40-50| 50-60
Frequency 5 15 25 20 10| 5

0T3001

(vi)

(vii)

(vii)

(viii)

5 00301

P19 AT G TE 2
(8) A=E-1

(@) A=E+1

M\ v =E+1

(]) 37H 4 HIg T8

Simultaneous linear Algebraic equations may
be solved by:

(a) Newton -Rapson method

(b) Gauss - Jordan method

(c) Hungarian method

(d) None of these

argHee i IRged Horda gftezor
P g foar sar 8-

(31) =g —=roue fafe

(@) wTra—<irsa fafer

(@) EfRae fafer

(®) 3 9 BIg 78

A die is thrown once. What is the probability
of getting prime number?

(a) &
()L
(©+

(d) None of these
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GROUP C (x)  In Poisson distribution, Mean is equal to:
Answer all Five Questions. (a) Standard deviation
8x5=40 (b) Square root of standard deviation.
Y afg g B IR (c) Variance
(d) None of these

7. Find F' (1.6) and F" (1.6) of the following table:

8 .
®x)  grma faaver § Hqeg sxrE} ghdr 2—
X |10 |11 12|13 |14 15|16 (1) "IF® fage=
f(x) | 7.989 | 8.403 | 8.781 [ 9.129 | 9.451 | 9.750 |10.031 @) W% fames @1 ata
(|) gaxor
farifea arferst | F' (1.6) 3R F' (1.6) 9Id (%) 399 & PIg T2l
B |
X 1ol11l121131141151 16 (xi)  Ratio of standard deviation to the mean is
known as:
f(x) | 7.989 | 8.403 | 8.781 | 9.129 | 9.451 | 9.750 |10.031 (a) Co-efficient of standard deviation

(b) Variance
(¢) Quality control

R (31141
OR( ) (d) None of these

(a) Solve the following equation by Gauss Jordan

(<)  AFD fade™ IR HEd & JGUId DI HEl

method. STl 28—
2x-8y+2=-5,x-2y+9z=8,3x+y-2=3 (31) wr® faae= &1 Lone
(b) Solve the following difference equation : (@) @ ]
(|) ora<n =T
Yoea = Wy T3, =5 @) 3 @ PE T
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Solve the following transportation problem by Least

cost method.

16

OR (3721d1)

fr=ifed =AU IE I BT 8l Least cost

From To Dy|D, [D3 |Supply
S 21341 5
S, 31711 8
Sy | 5|47 7
S |1]6]|2]14
Demand| 7 | 9 | 18

fafer & sma ¥ |
10 | Dy | Dy | D3 |Supply
S, 213141 5
S, 3171 8
S5 514171 7
S, 1l6]2] 14
Demand| 7 | 9 | 18

6. Find the standard deriation of the following

distribution.

0T3001

(xiv)

(xiv)

(xv)

(xv)

9 00301

Relation among mean (M) medran (Me) and
mode (Mo) is :

(@M-My=M,-M,
(byM-M;,=3(M-M,)

() 3M+2M = M,

(d) None of these

qTeA(M), HIfegsT (Me) Ud dgoled (Mo)
@ g g 2

@) M-My=M, - M,

@) M-My=3M-M,)

(@) 3M,+2M = M,

() g7 4 »Ig L

Linear programming problem can be solved
by:

(a) Newton - Rapson method

(b) Gauss Elimination method

(c) Simplex method

(d) None of these

T T yieed d1 ga fear
SITdT 28—

(31) =g YJuw= fafer

(@) ¥ vfafmee fafer

(\) Rruaaa fafer

(@) 399 A B 7L
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arfad eR—
()A=E-1
(i)v=1-E"
OR (312f1an)
If X110 [12 |14 |16 | 18
Y |18 |16 (20 |25 | 31

0T3001

Find y for x = 11, by Newton forward interpolation

formula.

X110

12

14

18

afe

Y |18

16

20

25

31

Newton forward interpolation [ dx=1la
faIg y &1 7 =rd @Y |

4. Abag contains 10 white and 15 black balls. Two

balls are drawn in succession. What is the probability
that both are different colour?

4

TP ol § 10 Sofell AR 15 drefl AT 2|
31 1] HAER fAarel orft @ 9 ]9 @

=1 ¥ @ B B 1 FHraAr 2

0T3001

(xviii)

(xviii)

(xix)

(xix)

1 00301

If optimistic time = 5 hours, most likely time
=6 hours, pessimistic time = 7 hours, then
expected time is equal to:

(a) 09 hours

(b) 04 hours

(c) 06 hours

(d) None of these

3R JAMIAMETS FHI = 5 °cl, A
T = 6 Hel, FRIEmard 99 = 7 "
a geqfag 99 2—

(31) o9 ®¢C

() o4 =T

(W) o6 =i

(@) 37 9 BIg el

Hungarian method is used to solve.
(a) Linear programming problems
(b) Transportation problem

(c) Assignment problem

(d) None of these

&3 A fpar Siar 2
(31) & 9UTHT gisa
(@) s=aUdeE UsH
() varsic Ylse™

(?) 37 9 @3 =

P.T.O
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